41501 Bk &

"e NP _
PP

© norelem

7= miiEA

MR

BEXENBEHRENAEESHTIERE,

HBREELEH TR AN RS,
BEXEMERSEREZSHIIRGIAES. RBIET HER , THTFX
Ugo

FARZRRE , AR ETHLENAES , ARIHREMIEEN
BERMEM L,
BYRERPWERY, , TUBHRERENRITLEIME,
BT : M12=%1.0 mm, M16 = +1.5 mm,

RS
BR MK X T RN BRM.

g
BERNRZETHEL2BLNERELAE,

BR:
EREE ENFHANETALETUBMALRETER , WK FENTH
RERE,

HEEE -
R E,
B E8R1E

BEETR :

AR XBEREM
BE : WEXEME
C & : WH#
DE: EMIRE
E & : w84

H3

% ¢

iy

H3

e

<L
=L
jm : 7

=k

< i
* L

()
@
| Nt—— ™~

i

H
S -

H3

o/

www.norelem.com




41501 BERE

41501-0500112 A KB 44,5 50,5 50 25 30 - 12,5 - 3,5 - -
41501-0720112 A KB 61 68 72 39,7 | 44 - 21,3 - 3,5 - -
41501-0720116 A KB 61 68 72 39,7 | 44 - 21,3 - 3,5 - -
41501-1000116 A KB 71,5 81,5 100 426 | 64 - 21,6 - 5 - -
41501-0500212 B o] 44,5 50,5 50 25 30 - 12,5 - 3,5 - -
41501-0720212 B wHE 61 68 72 39,7 | 44 - 21,3 - 3,5 - -
41501-0720216 B wE 61 68 72 39,7 | 44 - 21,3 - 3,5 - -
41501-1000216 B WE 71,5 81,5 100 42,6 | 64 - 21,6 - 5 - -
41501-0502312 C 2 mm Bk 50,5 56,5 50 25 30 - 12,5 2 3,5 - -
41501-0505312 C 5 mm B i 50,5 56,5 50 25 30 - 12,5 5 3,5 - -
41501-0722316 C 2 mm Bk 67 74 72 39,7 | 44 - 21,3 2 3,5 - -
41501-0725316 C 5 mm B & 67 74 72 39,7 | 44 - 21,3 5 3,5 - -
41501-1002316 C 2 mm B 77,5 87,5 100 42,6 | 64 - 21,6 2 5 - -
41501-1005316 C 5 mm B 77,5 87,5 100 426 | 64 - 21,6 5 5 - -
41501-0500412 D BhIkE 54,5 60,5 50 25 30 - 12,5 - 3,5 - -
41501-0720412 D AMIRE 71 78 72 39,7 | 44 - 21,3 - 3,5 - -
41501-0720416 D AMIRE 71 78 72 39,7 | 44 - 21,3 - 3,5 - -
41501-1000416 D BMIRE 81,5 91,5 100 42,6 | 64 - 21,6 - 5 - -
41501-0500512 E HEHET 54 60 50 25 30 | 18 12,5 - 35| 9 4,75
41501-0720512 E T 70,2 77,6 72 39,7 | 44 | 27 | 21,3 - 35| 9 4,75
41501-0720516 E AT 70,2 77,6 72 39,7 | 44 | 27 | 21,3 - 35 | 9 4,75
41501-1000516 E T 81,5 90,5 100 426 | 64 | 40 | 216 - 5 9 4,75
41501-0500112 A KB M5 M12x25 30 85
41501-0720112 A KB M6 M12X40 30 85
41501-0720116 A KB M6 M16X40 50 150
41501-1000116 A KB M8 M16X40 50 150
41501-0500212 B WE M5 M12x25 30 85
41501-0720212 B mmE M6 M12X40 30 85
41501-0720216 B wE M6 M16X40 50 150
41501-1000216 B WE M8 M16X40 50 150
41501-0502312 C 2 mm B M5 M12x25 30 85
41501-0505312 C 5 mm B % M5 M12x25 30 85
41501-0722316 C 2 mm Bk M6 M16X40 50 150
41501-0725316 C 5 mm B & M6 M16X40 50 150
41501-1002316 C 2 mm B M8 M16X40 50 150
41501-1005316 C 5 mm Bk M8 M16X40 50 150
41501-0500412 D BENMIRE M5 M12x25 30 85
41501-0720412 D BEMIRE M6 M12X40 30 85
41501-0720416 D BEMNMIRE M6 M16X40 50 150
41501-1000416 D AMIRE M8 M16X40 50 150
41501-0500512 E HEHET M5 M12x25 30 85
41501-0720512 E T M6 M12X40 30 85
41501-0720516 E AT M6 M16X40 50 150
41501-1000516 E T M8 M16X40 50 150

© norelem www.norelem.com



